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行列の定義

A=[1 2 3; 4 5 6]

A = 2×3
     1     2     3
     4     5     6

行列のサイズ

size(A)

ans = 1×2
     2     3

行列の定数倍

2*A

ans = 2×3
     2     4     6
     8    10    12

行列の足し算

B=[10 20 30; 40 50 60]

B = 2×3
    10    20    30
    40    50    60

A+B

ans = 2×3
    11    22    33
    44    55    66

転置行列

A.'

ans = 3×2
     1     4
     2     5
     3     6

随伴行列

A=[1+3i 2+i; 1-3i 5-i]

A = 2×2 complex
   1.0000 + 3.0000i   2.0000 + 1.0000i
   1.0000 - 3.0000i   5.0000 - 1.0000i

A'

ans = 2×2 complex
   1.0000 - 3.0000i   1.0000 + 3.0000i
   2.0000 - 1.0000i   5.0000 + 1.0000i
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A.'

ans = 2×2 complex
   1.0000 + 3.0000i   1.0000 - 3.0000i
   2.0000 + 1.0000i   5.0000 - 1.0000i

乱数行列(整数)

A=randi([1,10],4,4)

A = 4×4
     9     7    10    10
    10     1    10     5
     2     3     2     9
    10     6    10     2

B=randi([1,10],4,1)

B = 4×1
     5
    10
     8
    10

行列の積

A*B

ans = 4×1
   295
   190
   146
   210

行列の積の非可換性

B=randi([1,10],4,4)

B = 4×4
     7     7     7     3
     1     8     2     1
     9     8     8     1
    10     4     1     9

A*B

ans = 4×4
   260   239   167   134
   211   178   157    86
   125    90    45    92
   186   206   164    64

B*A

ans = 4×4
   177    95   184   174
   103    27   104    70
   187   101   196   204
   222   131   232   147
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単位行列とゼロ行列

eye(3)

ans = 3×3
     1     0     0
     0     1     0
     0     0     1

zeros(3)

ans = 3×3
     0     0     0
     0     0     0
     0     0     0

逆行列

inv(A)

ans = 4×4
   -1.0000    0.1198    0.8884    0.7025
    0.0000   -0.1777    0.0620    0.1653
    1.0000   -0.0207   -0.9463   -0.6901
    0.0000    0.0372    0.1033   -0.0579

inv(A)*A

ans = 4×4
    1.0000         0   -0.0000    0.0000
    0.0000    1.0000    0.0000    0.0000
    0.0000   -0.0000    1.0000   -0.0000
         0         0         0    1.0000

A*inv(A)

ans = 4×4
    1.0000    0.0000   -0.0000   -0.0000
    0.0000    1.0000    0.0000    0.0000
    0.0000         0    1.0000   -0.0000
    0.0000    0.0000   -0.0000    1.0000
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